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(English Version)

Instructions :

(1) First 15 minutes are allotted for the candidates to read the question paper.
(ti) All questions are compulsory.
(1) Qfﬂfﬁfﬁ”w No. 1 to 8 are Multiple Choice Type Questions. Questions No. 9 to 16 are
Very Short-Answer Type Questions, to be answered in about 20 words each, Questions
No. 17 to 22 are Short-Answer Type Questions, to be answered in about 50 words each
and Questions No. 23 and 24 are Long-Answer Type Questions, to be answered in about
150 words each. Questions No. 25 and 26 are Map-related Questions.
(tv)  Marks allotted to all the questions are mentioned against them.
(v) Illustrate your answers with suitable sketch maps and diagrams.

(vi)  Tear off the supplied maps from the question paper, indicate answers on them and
compulsorily attach them firmly to your answer-book.

MISSING QUESTION
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10.

11.

13.
14.
13.
16.

17.
18.
19.
20.

21.

22. What are the social henefits of Integrated Tribal Development Programme (ITDP)
in the Bharmaur tribal region ?

Which one of the following is not a land-use category ?

(a) Net sown area (b) Fallow land

(¢) Marginal land (d) Culturable wasteland
Which one of the following minerals is known as ‘Brown diamond' ?
(a) Manganese (b) Mica

(¢) Iron (d) Lignite

Which one of the following is the ]a
(a) Sino-Tibetan

(¢) Indo-Aryan

Which one of the following is the most crucial factor for sustain
in Indira Gandhi Canal Command Areg ?

(a)  Agricultural development (b)
(¢)  Transport development (d)

rgest linguistic group of India ?
(b) Austric
(d) Dravidian

able development

Eco-development
Colonisation of land

What are three basic areas of human development ?
What do you understand by High-Tech Industry ?
Differentiate between push and pull factors of migration.

Describe draught animals.

Describe the major sources of air pollution.

Explain the meaning of Hinterland.
(Short-Answer Type Questions)

Mention the approaches of human development.
What is urbanisation ? Discuss the development of urbanisation in India.
Mention the main features of intensive subsistence agriculture.

Give an account of the rural settlement types in India.

Discuss the problems of water pollution in India.
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(Long-Answer Type Questions)

23.  Discuss the factors influencing the distribution and density of population

in the world. 3+3
OR
Deseribe the trans-continental railways in the world. 6
24. Describe the development of non-conventional sources of energy in India, 6
OR
6

Divide Indian towns into major types on the basis of functions.

(Map-related Questions)

25. Show the following by suitable symbols in the given outline map of India
(on Page 9) and write their names also :

+

(i) The State with the lowest population in India.

+

0O | 10 | ke by | 10 | B |~
+
O I O N N L

(1) The Capital of Rajasthan.

(ili) The State with the highest literacy rate in India.

+

(iv) A main nuclear power plant in India.

+

(v) The State with the largest urban population in India.

Only for visually- impaired examinees in place of Question No. 25 :

Instructions : Write the answers of the following questions in your answer-book.

Do not use the map.

(i)  Write the name of the State with the lowest population in India. 1
(iiy  Write the name of the Capital of Rajasthan. 1
Giii)  Write the name of the Qtate with the highest literncy vate in India. 1
(iv) Write the name of a main nuclear power plant in India. i
(v) Write the name of the State with the largest urban population in India. !
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26.
Show the following by suitabl

€ Symbolg jn the given outline map of the World
(on Page 17) and write their nEes

names also :
() The Capital city of Russig L
— + —
(11)  The Count L
ry with the largest Population in North America £ + £
(i)  The Count ' ° 7
ry with '
Vith the highest Hyman Development Index (HDD) in the
world. [ 1
2 2
G
V) One sea port of South-Egst Asia, L.
2 2
(v)  One main river of Brazil, .
2 2
Onl . . . .
nty for visually-impaired éxaminees in place of Question No. 26 :
‘Instructions : Write the answers of the following questions in yuu;' answer-book.
Do not use the map.
(1) Write the name of the Capital city of Russia. 1
(1) Write the name of the country with the largest population in North
America. 1
(iii) Write the name of the country with the highest Human Development Index
(HDI) in the World. 1
(iv) Write the name of the sea port of South-East Asia. 1
(v)  Write the name of one main river of Brazil. I
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